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1. The paper consists of three sections :-  
Science (15 Questions), Mathematics (10 Questions) 
and Mental ability (15 Questions).  

2. All questions are compulsory and carry five marks 
each.  

3. There is only one correct answer hence mark one 
 Choice only. 

4. Darken your choice in OMR Sheet with Blue/ Black 
Ball Point Pen.  

5. Return the OMR Sheet to the invigilator at the end  
of the exam. 

6. There will be Negative Marking of 1.25 Marks.  
 

                    SCIENCE   
Comprehension/Passage (Q.1 & 2): Green Revolution 
was a process by which India’s production of wheat, 
rice, maize and several other food grains was 
tremendously increased in the late 1960s and early 
1970s. Fertilizers and pesticides were used. Irrigation 
facilities were improved. Dr. M.S. Swaminathan played 
a key role in bringing about the ‘green revolution’ and is 
callled as the father of Green revolution of India. In 
1967, he developed a high-yield dwarf variety of wheat, 
Sharbati Sonara. Being a plant geneticist, he has 
contributed to the development or agriculture in India.  
1. The high yielding variety of wheat is:  

(A) Kaushal sonara  (B) Pusa lerma 
 (C) Sharbati sonara  (D) All of the above 

2. Green revolution is:   
(A) Advancement in dairy products  
(B) Advancement in fishes and its products  
(C) Advancement in egg production  
(D) Advancement in agriculture 

3. The bone marrow is composed of :  
(A) Muscle fibres and adipose tissue  
(B) Areolar tissue and adipose tissue  
(C) Adipose tissue and calcified cartilage  
(D) Adipose tissue, areolar tissue and blood  
       Vessels 

 
. पेपर मᱶ तीन स᭍ेशन हᱹ:- 
     िव᭄ान (15 ᮧ᳤), गिणत (10 ᮧ᳤) और  
     मानिसक ᭃमता (15 ᮧ᳤) । 
2. सभी ᮧ᳤ करना अिनवायᭅ ह ᱹऔर ᮧ᭜येक ᮧ᳤ पाँच  
    अंक का हᱹ 
3. केवल एक ही सही उᱫर ह ैइसिलए एक को िचि᭠हत करᱶ 
4. अपनी उᱫर को ओएमआर शीट मᱶ नीली/काली पेन से  
    गोला को गहरा करᱶ 
5. परीᭃा के अंत मᱶ ओएमआर शीट िनरीᭃक को जमा करा दᱶ 
6. ᮧ᳤पᮢ मᱶ नेगᳯेटव मा᳼कग 1.25 अंक कᳱ होगी  

 
 

                   िव᭄ानं    
अनु᭒छेद / ग᳒ाशं (Q.1 & 2): 
भारत के 1960 तथा 1970 के दशक मᱶ, गᱶᱠ, चावल, मᲥा आᳰद 
खा᳒ा᳖ᲂ का िव᭭फोटक उ᭜पादन हᳯरत ᮓांित कहलाया । यह ᮓांित 
भारत मᱶ नई कृिष तकनीक िजसके तहत गᱶᱠ तथा चावल कᳱ उᲬ 
उ᭜पादकता वाली ᳰक᭭मᱶ उगाई गई। उवᭅरक तथा कᳱटनाशकᲂ का 
उपयोग ᳰकया गया। ᳲसचाई ᳞व᭭था उपल᭣ध कराई गई। डॉ. एम. 
एस. ᭭वामी नाथन ने हᳯरत ᮓांित मᱶ म᭎ुय भूिमका िनभाई । तथा 
भारत मᱶ हᳯरत ᮓांित के जनक कहलाये । 1967 मᱶ उ᭠हᲂने गᱶᱠ कᳱ 
बोनी ᳰक᭭म सरबती सोना िवकिसत कᳱ। पादप आनुवांिशक होने के 
नातᱶ उ᭠हᲂने भारत मᱶ कृिष और िवकास मᱶ योगदान ᳰदया। 
1. गᱶᱠ ँकᳱ अिधक पदैावार वाली ᳰक᭭म ह ै- - 

(A) कौशल सोनारा  (B) पुसा लेमाᭅ 
(C) सरवती सोनारा (D) उपरोᲦ सभी 

2. हᳯरत ᮓांित ह।ै 
(A) द᭏ुध उ᭜पादᲂ मᱶ वृि᳍ 
(B) मछली तथा उनके उ᭜पादᲂ मᱶ वृि᳍ 
(C) अ᭛डा उ᭜पादन मᱶ वृि᳍ 
(D) कृिष मᱶ वृि᳍ 

3. अि᭭थ मᲯा िमलकर बना होता ह।ै 
(A) मांशपेिशय ततंुᲐ तथा वसा ऊᱫकᲂ स े
(B) कोिशका ऊᱫकᲂ तथा वसा उᱫकᲂ स े
(C) वसा उᱫकᲂ तथा कड़ी लचीली ह᲻ीयᲂ स े
(D) वसा ऊᱫकᲂ, कोिशका ऊᱫकᲂ तथा रᲦ वािहकाᲐ स े
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4. Which of the following would not be considered part   
     of a cell's cytoplsm?  

(A) Ribosome   (B) Nucleus  
(C) Mitochondrion  (D) Microtubule  

5. Which statement is not correc t for amphibians?  
(A) These are first vertebrate which come out  
      of  Water 
 (B) They are cold-blood animals  
(C) They do have scales on their skin  
(D) They have two chambered heart  

6. Momentum is a:  
(A) vector quantity  (B) scalar quantity  
(C) fundamental quantity (D) none of the above  

7.  If the displacement-time graph for the two particles     
      A and B are straight lines inclined at angles of 30°  
      and 60° with the time axis, then ratio of the  
      velocities  VA  :  VB will be 

                                  
(A) 1 : 2    (B) 1 : 3  
(C) √3 : 1   (D) 3 : 1 

8. A stationary ball weighing 0.25 kg acquires a speed of   
    10 m/s when hit by a hockey stick. The impulse  
     imparted to the ball is:  

(A) 0.25 N × s   (B) 2.5 N × s  
(C) 2N × s   (D) 0.5 N × s 

9. Two solid spheres of same radius (R) and of same  
     material are placed in such a way that their centres  
     are 2R apart. The gravitational force between them is  
    directly proportional to :  

(A) R2    (B) 1/ R2 
(C) 1/2R   (D) 1/4R  

10. At dew point, relative humidity (RH) is :  
(A) 10%   (B) 20%  
(C) 50%   (D) 100%  

11. Rutherford's experiment which established the nuclear 
model of the atom used a beam of -particles which 
impinged on the metal 

(A)  - particles which impinged on the metal  
      Foil and got absorbed 

  (B) - rays which impinged on a metal foil and  
       ejected electrons 
(C) hydrogen atoms, which impinged on a metal   
      foil and got scattered 
(D) - particles nuclei, which impinged on a  
           metal foil and got scattered 

 

4. िन᳜िलिखत मᱶ से कौन कोिशका ᮤ᳞ का भाग नहᱭ ह.ै 
(A) राइबोसोम  (B) के᭠ᮤक 
(C) माइᮝोकाि᭠ᮟया ँ(D) सू᭯म निलकाए ँ

5. कौनसा कथन उभयचरᲂ के िलए स᭜य नहᱭ ह ै? 
(A) ये ᮧथम मᱨेद᭛डीय ᮧाणी ह ैजो जल से बाहर आए 
(B) ये ठ᭛ड ेरᲦ वाले ज᭠तु ह।ै 
(C) इनकᳱ ᭜वचा पर पपडीया होता ह।ै 
(D) इनके पास दो को᳧ᲂ मᱶ िवभािजत ᱡदय होता है। 

6. संवेग एक ह ै
(A) सᳰदश रािश  (B) अᳰदश रािश 
(C) मलू रािश  (D) इनमᱶ से कोई नहᱭ 

7.  दो कणᲂ A और B के िलए िव᭭थापन- समय ᮕाफ अᭃ 
      के साथ 30° और 60° कोण पर झकुᳱ सरल रेखाए ंह ैतब  
     वेगᲂ VA :VB का अनपुात होगा 

                                        
(A) 1 : 2   (B) 1 : 3  
(C) √3 : 1   (D) 3 : 1 

8. 0.25 Kg भार कᳱ एक ि᭭थर गᱶद 10 m/s कᳱ चाल ᮧा᳙ करती ह,ै 
जब यह एक हॉकᳱ कᳱ छड़ी ᳇ार मारी जाती ह।ै गᱶद को ᳰदया गया 
आवेग ह।ै 

(A) 0.25 N × s   (B) 2.5 N × s  
(C) 2N × s   (D) 0.5 N × s 

9. समान पदाथᭅ और समान िᮢ᭔या (R) के दो ठोस गोले इस 
   ᮧकार रख ेजाते ह ᱹᳰक उनके के᭠ᮤ 2R दरूी पर होते ह।ᱹ उनके 
    बीच गᱧु᭜वाकषᭅण बल सीधा समानुपाती ह ै

(A) R2    (B) 1/ R2 
(C) 1/2R   (D) 1/4R 

10. ओसᲂक (dew point) पर सापेᭃीक आᮤताᭅ (RH) ह ै:  
(A) 10%   (B) 20%  
(C) 50%   (D) 100%  

11. रदरफोडᭅ के परमाणु के नािभकᳱय मॉडल मᱶ िन᳜ के पुजं का 
      उपयोग ᳰकया जाता ह ै

(A) β-कणᲂ के, जो धातु परत पर आपितत होकर  
अवशोिषत हो जाते ह ै

(B) -ᳰकरणᲂ के, जो धातु परत पर आपितत होता ह ै 
तथा इल᭍ेᮝॉन मᲦु करता ह ै

(C) हाइᮟोजन परमाणᲐु के, जो धातु परत पर आपितत  
होता ह ैतथा िवᳰकणᱮत होता ह ै

(D) α-कण नािभकᲂ के, जो धातु परत पर आपितत  
होता ह।ै तथा िवᳰकणᱮत होता ह।ै 
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12. The name of the compound Ba3 N2 is:  
(A) Barium nitride  (B) Barium nitrite 
(C) Barium nitrate  (D) None of these  

13. The order of vapour pressures of four solids is P < R 
       < Q < S. Which of the following has the maximum  
        tendency to sublime?  

(A) P    (B) Q  
(C) R    (D) S  

14. Milk of Magnesia is an example of:  
(A) emulsion   (B) true solution  
(C) colloid   (D) suspension  

15. In which of the following pairs of shells, energy  
     difference between two adjacent orbits is minimum? 

 (A) K, L   (B) L, M  
(C) M, N   (D) N, O 
 

MATHEMATICS 
 
Comprehension/Passage (Q.16 & 17): A coin is tossed 
50 times and tail is obtained 19 times.  
16. Find the probability of getting tail.  

(A) 
ହ଴

ଵଽ
    (B) 

ଷ଴

ଵଽ
 

(C) 
ଵଽ

ହ଴
   (D) 

ଶ଴

ହ଴
 

17. Find the probability of getting head.  

(A) 
ଶଵ

ହ଴
    (B) 

ଵଽ

ହ଴
 

(C) 
ଷଵ

ହ଴
   (D) 

ସଵ

ହ଴
 

18. What is the least possible number which when  
       divided by 2, 3, 4, 5, 6 leaves the remainders  
       1, 2, 3, 4, 5 respectively? 

(A) 39    (B) 48  
(C) 59    (D) None of these 

19. The product (2)1/3  (2)1/4   (32)1/12  is eaual to 
 (A) √2   (B) 2 
(C) 12√2 (D) 12√32 
 

 20. If = x =   , then : 
(A) x is an irrational number   (B) 2 < x < 3 
 (C) x = 3   (D) None of these 
 

GIS कठूमर 
 

12. यौिगक Ba3 N2 का नाम ह ै
(A) बᳯेरयम नाइᮝाइड (B) बᳯेरयम नाइᮝाइट 
(C) बᳯेरयम नाइᮝेट (D) इनमᱶ से कोई नहᱭ 

13. चार ठोसᲂ के वा᭬प दाब का ᮓम P< R< Q<S ह।ै िन᳜  
      मᱶ से कोनसा ऊ᭟वाᭅपातन कᳱ अिधकतम ᮧवृिᱫ रखता ह ै? 

(A) P    (B) Q  
(C) R    (D) S  

14. मᲨैेिशया का दधू िन᳜ का उदाहरण ह ै
(A) पायस  (B) स᭜य िवलयन  
(C) कोलाइड  (D) िनलंबन  

15. उपकोशो के िन᳜ मᱶ से कौनसे यु᭏म मᱶ दो िनकटवतᱮ कᭃाओ  
       के म᭟य उजाᭅ अ᭠तर ᭠यूनतम होता ह ै? 
  (A) K, L    (B) L, M  

(C) M, N   (D) N, O 
 

गिणत  
 
अन᭒ुछेद (Q-16 & 17): एक िसᲥे को 50 बार फᱶ का जाता है 
तथा 19 बार टेल ᮧा᳙ ᳰकया जाता ह ै
16. टेल ᮧा᳙ होने कᳱ ᮧाियकता ᭄ात कᳱिजए - 

 (A) 
ହ଴

ଵଽ
    (B) 

ଷ଴

ଵଽ
 

(C) 
ଵଽ

ହ଴
   (D) 

ଶ଴

ହ଴
 

17. हडै ᮧा᳙ होने कᳱ ᮧाियकता ᭄ात किजए। 

  (A) 
ଶଵ

ହ଴
    (B) 

ଵଽ

ହ଴
 

(C) 
ଷଵ

ହ଴
   (D) 

ସଵ

ହ଴
 

18. ᭠यूनतम संभव सं᭎या ᭍या होगी, िजसे जब 2, 3, 4, 5, 6 
      ᳇ारा िवभािजत ᳰकया जाए तो शषेफल ᮓमश: 1, 2, 3, 4, 5 
      बचता हो । 

(A) 39    (B) 48  
(C) 59    (D) इनमᱶ स ेकोई नहᱭ 

19. गुणनफल (2)1/3  (2)1/4   (32)1/12  के िलए उपयुᲦ है 
 (A) √2    (B) 2 
(C) 12√2  (D) 12√32 

 20. यᳰद = x  =   , then : 
(A) x एक अपᳯरमेय     (B) 2 < x < 3 
 (C) x = 3      (D) इनमᱶ से कोई नहᱭ 

 

       G-Test      
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21. If AB, BC and AC be the three sides of a triangle ABC, 
which one of the following is true ?  

(A) AB – BC = AC  (B) (AB – BC) > AC  
(C) (AB – BA) < AC (D) AB2 – BC2 = AC2  

22. The parallelograms are an equal bases and between  
         the same parallels. The ratio of their area is   

(A) 1:2     (B) 1:1 
(C) 2:1    (D) 3:1 

23. ABCD is rhombus such that  ACB = 40° then  
       ADB is  

(A) 40°  (B) 45°  
(C) 50°  (D) 60° 

24. If a solid right circular cylinder is made of iron is  
       heated to increase its radius and height by 1% each,  
       then the volume of the solid is increased by  

(A) 1.01%   (B) 3.03%  
(C) 2.02%   (D) 1.2%  

25. If the area of equilateral triangle is 16√3 cm2 then  
       the perimeter of triangle is:     

(A) 48cm   (B) 24cm  
(C) 12cm   (D) 36cm  
 

MENTAL ABILITY 
 

26. DOG: Bark:: Goat : ?  
(A) Bleat   (B) Howl  
(C) Grunt   (D) Bray  

27. In a certain language, A is coded as 1, B is coded as 
      2, and so on, how is BIDDIC coded in that code?  

(A) 294493   (B) 284563  
(C) 375582   (D) 394492  

28. If 'South-east' is called 'East', 'North-west' is called  
       'West', 'South-west' is called 'South' and so on,  
       what will 'North' be called?  

(A) East   (B) North-east 
 (C) North-west   (D) South  

29. 1, 3, 10, 21, 64, 129, 256, 778  
(A) 10    (B) 21  
(C) 129    (D) 256 

 
 
 
 

 

  

21. यᳰद AB, BC तथा AC एक िᮢभुज कᳱ तीनो भुजाएं ह,ै िन᳜ 
मᱶ से कौनसी एक सही ह-ै 

(A) AB – BC = AC  (B) (AB – BC) > AC  
(C) (AB – BA) < AC (D) AB2 – BC2 = AC2  

22. समांतर चतुभुᭅज समान आधार और समान समांतर रेखाᲐ 
के बीच होते ह।ᱹ उनके ᭃेᮢफल का अनुपात ह ै 

(A) 1:2     (B) 1:1 
(C) 2:1    (D) 3:1 

23 ABCD एक समचतुभुᭅज ह ैᳰक   ACB = 40° तब  ADB 
 (A) 40°   (B) 45°  
(C) 50°   (D) 60° 

24 यᳰद लोह ेके बने एक समवᱫृीय बलेन को इसकᳱ िᮢ᭔या तथा  
      ऊँचाई ᮧ᭜येक मᱶ 1% वृि᳍ के िलए गमᭅ ᳰकया जाता ह,ै तब 
      ठोस आकृित के आयतन मᱶ ᳰकतनी वृि᳍ होगी 

 (A) 1.01%   (B) 3.03%  
(C) 2.02%   (D) 1.2%  

25. यᳰद समबाᱟ िᮢभुज का ᭃेᮢफल 16√3 cm2 ह,ै तो 
       िᮢभुज कᳱ पᳯरिध ह:ै 

(A) 48cm   (B) 24cm  
(C) 12cm   (D) 36cm  
 
 

मानिसक ᭃमता  
 

26. कुᱫा : भᲅकना  :: बकरी : ?  
(A) मᱶ मᱶ    (B) भᲅ  भᲅ  
(C) घुर घुर    (D) ᳲचखना 

27. यᳰद एक िनि᳟त भाषा मᱶ A का संकेत 1 ह,ै B का संकेत 
      ह,ै इ᭜याᳰद इस ᮧकार BIDDIC का संकेत ᭍या होगा - 

(A) 294493   (B) 284563  
(C) 375582   (D) 394492  

28. यᳰद दिᭃण-पूवᭅ को पूवᭅ कहते ह,ै उᱫर-पि᳟म को पि᳟म    
      कहते ह,ै दिᭃण-पि᳟म को दिᭃण कहत ेह,ै इ᭜याᳰद तब उᱫर 
      को ᭍या कहा जाएगा। 

(A) पूवᭅ   (B) उᱫर-पूवᭅ 
(C) उᱫर-पि᳟म  (D) दिᭃण 

29. 1, 3, 10, 21, 64, 129, 256, 778  
(A) 10    (B) 21  
(C) 129    (D) 256 
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              G-Test                                         GIS कठूमर 

GIS TALENT EXPLORING & SCHOLARSHIP TEST 

Address : Kherli By Pass Road, Kathumar (Alwar) |Mob : 7374-960-573, 7374-960-574, 7374-960-575 
Website: www.giskathumar.com | : info@giskathumar.com 

Pa
ge

5 

 
30. Insert the missing characters out of the given   
      Options below the matrix. 

 
 
 
 

  
(A) E10    (B) E12  
(C) S10    (D) S15  

31. A bus starts from city X. The number of women in  
      the bus is half of the number of men. In city Y, 10  
      men leave the bus and five women enter. Now,  
     number of men and women is equal. How many  
      passengers  entered the bus in the beginning? 

 (A) 15    (B) 30  
(C) 36    (D) 45 

32. If A stands for +, B stands for –, C stands for X, then  
      what is the value of (10 C 4) A (4 C 4) B 6?  

(A) 60    (B) 56  
(C) 50    (D) 20  

33. P is the brother of Q and R. S is R's mother. T is P's  
      father. Which of the following statements cannot be      
      definitely true ?  

(A) Q is T's son   (B) T is Q's father  
(C) S is P's mother  (D) P is S's son  

34. Satish remembers that his brother's birthday is after  
      15th but before 18th of February whereas his sister  
      Kajal remembers that her brother's birthday is after  
      16th but before 19th of February. On which day in  
      February is Satish's brother's birthday?  

(A) 16th   (B) 17th  
35. (i) A + B means A 'is the father of' B  
      (ii) A – B means A 'is the wife of' B  
      (iii) A × B means A 'is the brother of' B 
      (iv) A  B means A 'is the daughter of' B 
      If A – C + B, which of the following  
    statements is true? 

(A) A is the mother of B  
(B) B is the daughter of A 
(C) A is the sister of B  (D) None of these  

36. A, B, C, D, E and F are sitting around a round table. 
       A is between E and F, E is opposite to D, and C is not 
        in either of the neighbouring seats of E. Who is  
        opposite to B? 

 (A) C    (B) D  
(C) F    (D) A 

 
 

 
30. आ᳞ूह के नीचे ᳰदए गए िवक᭨पᲂ मᱶ स ेआ᳞ूह मᱶ ᳰदए गए 
    अनुपि᭭थत वणᭅ पर रख।े 
 
         
 
 

 (A) E10   (B) E12  
(C) S10    (D) S15  

31. एक बस X शहर से शुᱨ होती है। बस मᱶ िᳫयᲂ कᳱ सं᭎या   
   पुᱧषᲂ कᳱ सं᭎या से आधी ह।ै Y शहर मᱶ 10 पᱨुष बस से उतरते  
   ह।ै तथा पाँच िᳫयाँ बस मᱶ चढ़ती ह।ै अब, पुᱧषᲂ तथा िᳫयᲂ  
   कᳱ सं᭎या समान ह।ै ᮧार᭥भ मᱶ ᳰकतने याᮢी बस मᱶ चढ़े थे। 

 (A) 15    (B) 30  
 (C) 36    (D) 45 

32. यᳰद A का मतलब +, B का मतलब – , C का मतलब X, तब 
     (10 C 4) A (4 C 4) B 6? का मान होगा. 

 (A) 60    (B) 56  
(C) 50    (D) 20  

33. P, Q तथा R का भाई ह।ै S, R कᳱ माता ह।ै T, P का िपता 
ह।ै िन᳜ मᱶ से कौनसा कथन िनि᳟त ᱨप स ेस᭜य नहᱭ ह ै-   

(A) Q, T का पुᮢ ह।ै  (B) T, Q के िपता ह।ै 
(C) S, P कᳱ माँ ह ै  (D) P,S का पुᮢ ह ै

34. सतीश को याद आया ᳰक उसके भाई का ज᭠मᳰदन 15  
     फरवरी के बाद लᳰेकन 18 फरवरी से पहले ह।ै जबᳰक उसकᳱ   
     बिहन काजल को याद ह ैᳰक उसके भाई का ज᭠मᳰदन 16 के  
     बाद लᳰेकन 19 फरवरी स ेपहले ह।ै फरवरी मᱶ कौनसे ᳰदन  
     सतीश के भाई का ज᭠मᳰदन होगा 
  (A) 16th   (B) 17th  

(C) 18th   (D) 19th 
35. (i) A + B का मतलब A, B का िपता ह।ै 
      (ii) A - B मतलब A, B कᳱ प᳀ी ह।ै 
      (iii) A × B मतलब A, B का भाई ह।ै 
      (iv) A = B मतलब A, B कᳱ पुᮢी ह।ै 
     यᳰद A - C + B, तब िन᳜ मᱶ से कौनसा कथन स᭜य ह ै- 

(A) A, B कᳱ माँ ह।ै 
(B) B, A कᳱ पुᮢी ह।ै 
(C) A, B कᳱ बहन है। 
(D) इनमᱶ से कोई नहᱭ 

36. A, B, C, D, E तथा F एक गोलाकार मेज के चारᲂ ओर बैठे ह।ᱹ   
     A, E तथा F के बीच मᱶ ह.ै E, D के िवपरीत ह,ै तथा C, E के  
     पड़ोस कᳱ सीट पर नहᱭ बैठा ह ैB के िवपरीत कौन ह ै 

(A) C    (B) D  
(C) F    (D) A 

 
 

Z4  X3  V9 
A5 C2 ? 
T5 R4 P15 

Z4  X3  V9 
A5 C2 ? 
T5 R4 P15 
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37. Find the triangles in the given figure. 
 
 
 
 
 

(A) 14    (B) 17  
(C) 15    (D) 16 

38. In the following question, the figure is folded to 
form a box. Choose from among the alternatives the 
box  or boxes that can be formed by folding the figure. 

             

 
(A) only I   (B) only II  
(C) only II and III  (D) only III and IV 

Directions (39 to 40): A sheet has been folded in the  
manner as shown in X, Y and Z respectively and 
punched. You have to choose from the alternatives how 
it will look when unfolded  

 
 
 

 
37. दी गयी आकृित मᱶ िᮢभुजᲂ कᳱ सं᭎या ᭄ात कᳱिजए । 
 
 
 
 
 

(A) 14    (B) 17  
(C) 15    (D) 16 

38. िन᳜ ᮧ᳤ मᱶ, आकृित को मोडकर एक बॉ᭍स बनाया जाता है।   
     ᳰदए गए िवक᭨पᲂ मᱶ से उस बॉ᭍स या बॉ᭍सो का चयन    
     कᳱिजए। जो आकृित को मोडने पर बनेगा 

             

 
(A) िसफᭅ  I  (B) िसफᭅ  II 
(C) िसफᭅ  II और II   (D) सप III और IV 

िनदᱷश (39 to 40): एक च᳎र को इस ᮧकार मोड़ा जाए जैसा 
ᳰक ᮓमश आकृित  X, Y तथा Z मᱶ ᳰदखाया गया ह ैतथा उनमे छेद 
ᳰकया गया ह ैआपको िवक᭨पᲂ मᱶ से चयन करना ह ैᳰक जब इसे 
खोला जायेगा तो यह कैसा ᳰदखेगा    

 


